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  R e g.N o . :

E xam  T im e  : 01:00 H rs To tal M arks : 50

M ult ip le  C ho ic e  Q ue st io n s 50 x  1  = 50

T he  do m ain o f the  func t io n 'f ' give n by    _ _ _ _ _ _ _ _ _ _ _ _

(a) R -  {3 , - 2} (b) R -  {- 3 , 2} (c ) R -  {3 , 2} (d) R  -  { -  3 , -  2}

f(x) = +2x+1x2

−x−6x2

I f c o s A  =  , the n the  value  o f tan A  is  _ _ _ _ _ _ _ _ _ _ _

(a) (b) (c ) (d) 

4
5

3
5

3
4

4
3

5
3

o n div id ing  

(a) .(x  -  5)(x  - 3) (b) .(x  -  5)(x  + 3) (c ) .(x  +  5)(x  - 3) (d) .(x  +  5)(x  +  3)

 by   is equal to −25x2

x+3
x+5

−9x2

I f ∆A B C  is r ight  angle d at  C , the n the  value  o f c o s (A  +  B ) is  _ _ _ _ _ _ _ _ _ _ _

(a) 0 (b) 1 (c ) (d) 
1
2

3√

2

I f func t io n f : N⟶N , f(x) = 2x  the n the  func t io n is , the n the  func t io n is  _ _ _ _ _ _ _ _ _ _ _

(a) N o t o ne  -  o ne  and no t o nto (b) o ne - o ne  and o nto (c ) N o t o ne  - o ne  but no t  o nto (d) o ne  -  o ne  but  no t  o nto

lf 1  +  2+  3  +  . . . +  10 = 55 , the n, 1  +  2 +  3  + ...... 10  = ?

(a) 55 (b) 10 (c ) 55 (d) 10

3 3 3 3

2 2 3 3

T he  q uadrat ic  e q uatio n w ho se  ro o ts are   _ _ _ _ _ _ _ _ _ _ _

(a) (b) (c ) (d) 

2 +  and 2 −  is 2√ 2√

− 4x + 2 = 0x2 − 2x + 2 = 0x2 + 2x − 4 = 0x2 − 2x + 4 = 0x2

F ind the  value  o f p , g ive n that  the  line    passe s thro ugh the  po int  (- 4 , 4) is  _ _ _ _ _ _ _ _ _ _ _

(a) - 4 (b) - 6 (c ) 0 (d) 8

= x − p
y

2

I f t  is  the  n  te rm  o f an A .P., the n t  -  t  is  :

(a) (8n -  1)d (b) (8n -  2)d (c ) (7n -  2)d (d) (7nd)

n
th

8n n

In a r ight  angle d triangle  A B C , r ight  angle d at  B , if the  side  B C  is paralle l to  x - ax is, the n the  slo pe  o f A B  is  _ _ _ _ _ _ _ _ _ _ _

(a) (b) (c ) 1 (d) no t  define d3√ 1
3√

I f sin A  =  , the n the  value  o f c o t  A  is  _ _ _ _ _ _ _ _ _ _ _

(a) (b) (c ) (d) 1

1
2

3√ 1
3√

3√

2

 T he  Ave rage  o f fi rst  100 natural num be rs is _ _ _ _ _ _ _ _

(a) 5055 (b) 5050 (c ) 5550 (d) 5150

C o m po sit io n o f func t io n is assso c iat ive  _ _ _ _ _ _ _ _ _ _ _ _

(a) A lw ays true (b) N e ve r true (c ) S o m e tim e s true (d) N o ne  o f the se

1)

2)

3)

4)

5)

6)

7)
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9)
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(c o se c θ  -  c o t θ) (1  -  c o s θ) is e q ual to  _ _ _ _ _ _ _ _ _ _ _

(a) c o se c  θ (b) c o s θ (c ) se c θ (d) sin θ

2 2 2

2 2 2

lf n(A ) = p ; n(B ) = q ; the n the  to tal num be r o f re lat io ns that  e x ist  be tw e e n A  and B  is _ _ _ _ _ _ _ _ _

(a) 2 (b) 2 (c ) 2 (d) 2p q p+ q pq

T he  G.C .D. o f a , a , a  is  :

(a) a (b) a (c ) a (d) 1

m m + 1 m + 2

m m + 1 m + 2

T he  LC M  o f  

(a) (b) (c ) (d) 

8 , 10x  and 12  is x4y2z3 y3z5 x2y2z4

120x2y2z2 120x4y3z5 2xy2z3 120x3y3z5

I f c o s9∝ = sin∝ and 9∝ <  90 , the n the  value  o f tan t∝ is

(a) (b) (c ) 1 (d) 0

o

1
3√

3√

T he  V alue  o f r  suc h that   1  +  r +  r  +  r  + _ _ _ _ _ _ _ _ _ _ _  = 3/4

(a) 1/3 (b) - 1/3 (c ) 3 (d) - 3

1
2 3

I f p , q , r, x , y, z  are  in A .P, the n 5p +  3 , 5r +  3 , 5x  +  3 , 5y +  3 , 5z  +  3  fo rm  _ _ _ _ _ _ _ _ _ _ _ _

(a) a G.P (b) an A .P (c ) a c o nstant se q ue nc e (d) ne ithe r an A .P  no r a G.P

T he  sum  o f fi rst  n o dd natural num be r is  _ _ _ _ _ _ _ _ _ _ _

(a) 2n - 1 (b) 2n +  1 (c ) n (d) n  -  12 2

I f f : R⟶R  is define d by (x) = x +  2 , the n the  pre im age  27 are  _ _ _ _ _ _ _ _ _

(a) 0 .5 (b) 5 , - 5 (c ) 5 , 0 (d) 

2  

, −5√ 5√

T he  e q uatio n o f straight  line  hav ing slo pe  3  and m aking inte rc e pt 4  o n the  y- ax is is  _ _ _ _ _ _ _ _ _ _ _

(a) 3x  -  y -  4  = 0 (b) 3x  -  y +  4 = 0 (c ) 3x  +  y -  4  = 0 (d) 3x  +  y +  4 = 0

T he  se q ue nc e  - 3 , - 3 , - 3  ......... is  _ _ _ _ _ _ _ _ _ _ _

(a) an A . P  o nly (b) a G.P  o nly (c ) ne ithe r A .P  no r G.P (d) bo th A .P  and G.P

T he  slo pe  o f the  straight  line  pe rpe ndic ular to  x - ax is is:

(a) 1 (b) 0 (c ) ∞ (d) - 1

If f(x) = 2  -  3x , the n f o  f(1  -  x ) = ?

(a) 5x+ 9 (b) 9x - 5 (c ) 5 - 9x (d) 5x - 9

If ∆A B C  is an iso sc e le s tr iangle  w ith r ight  angle  C  = 90° and A C  = 5c m , the n A B  is _ _ _ _ _ _

(a) 2 .5c m (b) 5c m (c ) 10c m (d) 4√2c m

 the n f(x) =

(a) x +  2 (b) (c ) x -  2 (d) 

(x − ) = +1
x

x2 1
x2

2   +x2 1
x2

2 −x2 1
x2

T he  L .C .M  o f x  -  a  and (x  -  a)  is  _ _ _ _ _ _ _ _ _ _ _

(a) (b) (c ) 

(d) 

3 3 2

( − ) (x + a)x3 a3 ( − ) (x − ax3 a3 )2 (x − a ( + ax + ))2 x2 a2

(x + a ( + ax + ))2 x2 a2

I f m  and n are  the  tw o  po sit ive  inte ge rs the n m  and n  are  _ _ _ _ _ _ _ _ _ _ _ _

(a) C o - prim e (b) N o t c o - prim e (c ) E ve n (d) o dd

2 2
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I f tan θ  = c o t  θ  the  value  o f se c  θ  is  _ _ _ _ _ _ _ _ _ _ _

(a) 2 (b) 1 (c ) (d) 
1
3√

2√

A xis o f sym m e try in the  te rm  o f ve r t ic al line  se pe rate s parabo la into  _ _ _ _ _ _ _ _ _ _ _

(a) 3  e q ual halve s (b) 5  e q ual halve s (c ) 2  e q ual halve s (d) 4  e q ual halve s

T he  e q uatio n o f straight  line  paralle l to  y- ax is and at  a d istanc e  3  units to  the  right  is  _ _ _ _ _ _ _ _ _ _ _

(a) x  = 1 (b) x  = 2 (c ) x  = - 3 (d) x  = 3

T he  pe rim e te r o f a tr iangle  fo rm e d by the  po ints (0 , 0), (1 , 0) and (0 , 1) is:

(a) (b) 2 (c ) 2  +   (d) 2  -  2√ 2√ 2√

I f A  and B  are  c o m ple m e ntary angle s the n _ _ _ _ _ _ _ _ _ _ _ _

(a) sin A  = sin B (b) c o s A  = c o s B (c ) tan A  = tan B (d) se c  A  = c o se c  B

If n( A  ) = p , n( B  ) = q  the n the  to tal num be r o f re lat io ns that  e x ist  be tw e e n A  and B  is  _ _ _ _ _ _ _ _ _ _ _

(a) pq (b) 2   (c ) q (d) ppq p q

I f t  is  the  n  te rm  o f A .P, the n t t  is  _ _ _ _ _ _ _ _ _ _ _ .

(a) 2nd (b) nd (c ) a+ nd (d) 2a+ 2nd

n
th

2n -   n

A  se q ue nc e  is a func t io n define d o n the  se t  o f _ _ _ _ _ _ _ _ _ _ _ _

(a) re al num be rs (b) natural num be rs (c ) w ho le  num be rs (d) inte ge rs

44 ≡ 8 (m o d12), 113 ≡ 85 (m o d 12), thus 44 x  113 ≡_ _ _ _ _ _ (m o d 12):

(a) 4 (b) 3 (c ) 2 (d) 1

T hre e  num be rs a, b  and c  w ill be  in A .P. if and o nly if _ _ _ _ _ _ _ _  

(a) 2a = b  +  c   (b) 2b = a +  c (c ) 2c  = a +  b     (d) no ne  o f the se

T he  fi rst  the o re m  in M athe m atic s is _ _ _ _ _ _ _ _ _ _ _ _

(a) T hale s T he o re m (b) A ngle  b ise c to r T he o re m (c ) P ythago ras T he o re m (d) A lte rnat ive  se gm e nt T he o re m

T he  c o ndit io n fo r the  line s    to  be  pe rpe ndic ular is  _ _ _ _ _ _ _ _ _ _ _

(a) (b) (c ) (d) 

x + y + = 0 and  x + y + = 0a1 b1 c1 a2 b2 c2

+ = 0a1a2 b1b2 + = 0a1b1 a2b2 − = 0a1a2 b1b2 − = 0a1b1 a2b2

W hat c an be  said  re garding a line  if its slo pe  is ne gative ?

(a) ac ute (b) o bfuse (c ) z e ro (d) N o ne  o f the se

9 se c A   -  9tan A  = _ _ _ _ _ _ _ _ _ _ _

(a) 1 (b) 9 (c ) 8 (d) 0

2 2

Give n f(x) = (-  1)  is  a func t io n fro m  N  to  Z . T he n the  range  o f f is  _ _ _ _ _ _ _ _ _ _ _ _

(a) {1} (b) N (c ) {1  ,- 1} (d) Z

x

W hat is the  H C F  o f the  le ast  prim e  and the  le ast  c o m po site  num be r?

(a) 1 (b) 2 (c ) 3 (d) 4

(se c  A  +  tan A )(1  -  sin A ) is e q ual to  _ _ _ _ _ _ _ _ _ _ _

(a) se c  A (b) sin A (c ) c o se c  A (d) c o s A

F ind the  slo pe  and the  y- inte rc e pt o f the  line    is  _ _ _ _ _ _ _ _ _ _ _ _

(a) (b) (c ) (d) 

3y − + 1 = 03x
−−

√

,1
3√

−1
3 − ,1

3√
−1
3 , 13√ − , 33√
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* * * * * * * * * * * * * * * * * * * * * * * * * * * * * * * * * * * * * * * * *

T he  rat io  o f the  are as o f tw o  sim ilar t r iangle s is e q ual to  _ _ _ _ _ _ _ _ _ _ _ _

(a) T he  rat io  o f the ir c o rre spo nding side s (b) T he  c ube  o f the  rat io  o f the ri c o rre spo nding side s

(c ) T he  rat io  o f the ri c o rre spo nding att itude s (d) T he  sq uare  o f the  rat io  o f the ir c o rre spo nding side s

If n(A ) = p , n(B ) = q  the n the  to tal num be r o f re lat io ns that  e x ist  be tw e e n A  and B  is  _ _ _ _ _ _ _ _ _ _ _ _

(a) 2 (b) 2 (c ) 2 (d) 2p q P+ q pq

49)
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Multiple  Cho ice  Questions

50 x  1 =  50

(a ) x + 22 

(d ) one  - one  b u t  not  on to

(b ) 2  pq

(c) 5 -9x

(a ) Always true

(c) 2p+q

(d ) 2pq

(a ) 5055

(a ) 2a  =  b  +  c  

(a ) R - {3 , -2}

(a ) 2nd

(a ) re al num bers

(b ) 2

(a ) Co-p r im e

(a ) 4

(b ) an  A .P

(d ) both  A .P  and  G .P

(a ) 55 2

(d ) -3

(d ) (7nd )

(c) 2  equal halves

(a ) 2 .5cm

(c) (x − a ( + ax + ))2 x2 a2

(b ) am+ 1

(c) Pythagoras Theorem

(c) 2  +   2√

(a ) ,1
3√

−1
3

(b ) ob fuse

(a ) + = 0a1a2 b1b2

(c) ∞

(a ) 
3
5

1)

2)

3 )

4 )

5 )

6)

7)

8)
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10)
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20)

21)

22)

23 )

24 )

25)

26)

27)

28)

29)

3 0)

3 1)

www.Padasalai.Net                                                                     www.Trb Tnpsc.Com

Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com

www.P
ad

as
al

ai
.N

et

www.P
ad

as
al

ai
.N

et

https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

